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Setld: 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

Section 1 - Reasoning

No. of Questions: 50

1) On the top of a building, flags of different countries furl. The Mexican flag is placed 12th from the
left and 13th from the right. Find the total number of flags.

A) 13
B) 16
C) 24
D) 28

1) U HaeT o 2N o1, Faffieer i & 513 e @ & | Toas AfFaent 1 &gt s1if 3R & 12 3 3R grft
IRV 13 TUTT W | T3 T el TEAT T AT A2MT?

A) 13
B) 16
C) 24
D) 28

2) Select the option that will make the second pair analogous to the first pair.
Fuel Gauge : Fuel levels :: Anemometer : ?

A) Wind
B) Ink

C) Density
D) Volume

2) 39 fehed &l Tl & ST g@T SIS ! Tgell SIS & AEY SAT0aT|

TGl ISl : T oldel : TATHAIAC : ?

A) fig
B) &

C) sdy
D) gt
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3) What is the next term in the number series given below?
32,31, 33,32, 34, 33,35,34

A) 36
B) 32
C) 33
D) 35

3) ofrer &Y 91S HET H@ell H 3T T, 47 572
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) What is the next term in the number series given below?
3,21, 42,294..

A) 588
B) 2058
C) 1818
D) 1991

4) <y & TS TEAT AT 7 37T 6 4T 57
3,21, 42, 294..

A) 588
B) 2058
C) 1818
D) 1991

5) The average age in a family of 7 members is 28 years. A baby is born in the family. What will be
the average age of the family when the baby will be 6 years old?

Page20f87



Setld : 61786 _3

Technical Assistant (LAB) - Electrical BATCH2 180CT2020

A) 29.5 years
B) 30 years
C) 30.5 years
D) 31 years

5) 7 FEEA dTel IRAR # 34 3 28 IY & IRAR # Teh Tod T ST 37T & | ST ST 6 Hiel 1

Q19T i ORER Bt 3Tl 37 et g

A) 29.5 a§
B) 30 a§
C)30.5a¥
D) 31 a§

6) What can be the coded form of the string COLD from figure 1 and figure 2?

Figure 1:

> O|m R >N

Blwin|=|o
mR|R OO0
wilolo]lwli- i

allelie g gie i

Q> oma|H

Figure 2:

o |00 |
O || v|w
Oo|Z|Z|v|C |
== Z|O

Z|9|o|r ||

= (O|Z|e

A) 44, 96, 95, 22
B) 31, 99, 77, 22
C) 30, 66, 86, 43
D) 10, 85, 79, 24
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6) T 1 3R R 2 & f&&ar coLbD asragmﬁ:mgmmwﬁm%?

= 1
0111213 |4
O|DIK|A|E|C
1|C|ID|K|A|E
2|K|C|E|A|D
3/ K|C|DJ|E|A
4| E(D|A|K|C

T2
516|789
5|P|L|O|T|N
6/ TIP|(N|L|O
7P |N|T|O|L
8IO|N|[T|P|L
9/L|O|P|[N|T

A) 44, 96, 95, 22
B) 31, 99, 77, 22
C) 30, 66, 86, 43
D) 10, 85, 79, 24

7) In a certain code GIPPLE is written as 613382 and LIFE is written as 8192. How is PILLEG
written in that code?

A) 318826
B) 776655
C) 786543
D) 156724

7) U fAfTd %he & GIPPLE &1 613382 & &9 & 31X LIFE Y 8192 & &9 # for@r ST €1 PILLEG ¥
39 %e # 4 fogr san?

A) 318826
B) 776655
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C) 786543
D) 156724

8) Which of the following statements can be used to take a decision on this question: Is P>Q?

A) P =30

B) Q =40

C) PQ = 1200

D) Question cannot be solved

8) 37 U2 W 0T ol & foiv fe=ifaif@d & & fohd Y= o1 3UANeT foham ST AehaT § : FIT P>Q §?

A) P = 30
B) Q = 40
C) PQ = 1200

D) o g w16 Y ST vl §

9) How many triangles are there in the following figure?

A) 4
B) 5
C)7
D) 8

o) PR R 3% Rreret Rrsger 82
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A) 4
B) 5
C)7
D)8

10) Which of the given option will NOT share the same property as the elements of the given set:
(10, 20, 30, 40, 50)?

A) 70
B) 90
C) 77
D) 60

10) few 917 fasheq & @ wle &1 faehed few 1w e (10, 20, 30, 40, 50) & dedl & FHTET J[0T I HIST
STET HYaT?

A) 70
B) 90
C) 77
D) 60

11) You are given a statement.
Statement: This is a leap year.

Which of the following questions can be answered by using the given statement?

A) Is this year 19667
B) Is this year 19727
C) Is this year 19887?
D) Is this year 19967
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11) 37T9ehT Ueh hUT &1 31T §
HUT: g TH T IV g |
feT 31T FUT T 39T Flah T H T 5T 9T 1 31 &7 31 Gohar &2

A) F7 Ig a¥ 1966 &2
B) &rar og @ 1972 &7
C) & 71g 9 1988 &7
D) arar a1g 9§ 1996 &7

12) A Salesman is entitled to X 15 for every km being travelled by car and % 5 for every km being
travelled by bike. In a day, if he has made a claim of ¥ 600 after covering 90 kms, how many
kms did he travel by bike( Consider he has used only car and bike for traveling)?

A) 25 kms
B) 45 kms
C) 75 kms
D) Data Insufficient

12) Teh HeHHsT R GaRT AT et TN % 15 Ui foheAT 3R S15eh GaRT AT el W X 5 9l fohad
TG UTeT T ITADRT g | TTE, Teh ol A, 38T 90 ThAT Tk W Hlad o d1G T 600 T graT fohT &,
ar 3 fohdet fohalleieT S8 & ATAT T &2 (AT of fh 3T AT & TIT shael HR iR q56 Fr

STAAT fhaT §)

A) 25 el
B) 45 faraly
C) 75 el
D) 3tieng srqaafea &

13) Sunil told that Mohit was the son of the only brother of his father’s wife. How is Mohit related to
Sunil?

A) Son
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B) Maternal Uncle
C) Cousin
D) Brother

13) geiter o ST o ARt 3Heh AT T Teail o ThATS TS T 9T § | AlGd Geitol bl AT o7l 572

A) et
B) arem/atan
C) FaRT 3718
D) 371

14) What do all the four names given below represent?
(Croatia, Morocco, Kosovo, Ukraine)

A) Capitals
B) Countries
C) Religions
D) Languages

14) Frr feU 31T IR AT FA7 g20Tc §2
(SPITTRIAT, HIYerenl, SIHTET, Fohel)

A) rerenfar
B) gar

C) ey

D) st

15) In how many different sets can the given set be classified if classification is done on the basis
of number of digits in term?

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
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C)5
D) 6

15) fow 1T A< 1 freet et et 3 qaffera v o wohar § A 9 aeffertor ug # 37 & MR
e SITar 872

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D) 6

16) A cube is painted on all the faces with same colour and cut into 27 smaller cubes of equal size.
How many cubes are painted exactly on 2 faces?

A) 24
B) 28
C) 32
D) 12

16) Teh TeT & G Feleh T Teh & T & Ue 7ar Sirar § 3R &1 3R & 27 B¢ 87 & el SrdT &
fohdet gt & ST 2 Hoteh UX e ThaT 1T 872

A) 24
B) 28
C) 32
D) 12

17) Select the option that will make the second pair analogous to the first pair.
Soldiers : Army :: Nomads :

A) Horde
B) Heap
C) Herd
D) Bundle
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17) 39 fdsheq o wdel Y S g@ElY SISt &l Ugoll SISt & HHET Seil &IT:
Hfa: Jar ;oI I

A) i
B) ax
C) Yz
D) areat

18) Select the option that will make the second pair analogous to the first pair.
6:219::9:7?

A) 221
B) 263
C) 325
D) 732

18) 39 fashed ol TheT Y St g ST 1 Ygell SISt & FHEY SITeaT|
6:219::9:7?

A) 221
B) 263
C) 325
D) 732

19) If every second Thursday and all Sundays are holidays in a 31 day month, beginning on
Thursday, then how many holidays will be there in that month?

A) 4
B) 6
C)3
D)5

19) A TR W UE B aTer 31 T 3 AL 7 & g TaR R T IyaR A el el €, ar 39
7 3 Rl it e
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A) 4
B) 6
C)3
D)5

20) What is the missing term in the number series given below?
, 175, 25,9, 108, 12, 7, 133, 19, 12,72, 6

A) 7
B) 9
C) 11
D)5

20) =T &Y 91$ HEAT AW A AU e o1 572
, 175, 25,9, 108, 12, 7, 133, 19, 12, 72, 6

A) 7
B) 9
C) 11
D)5

21) Two natural numbers have same number of digits and their sum is a 3-digit natural number.
What could be the minimum value of their product?

A) 900
B) 1200

C) 2500
D) Cannot be determined

21) &Y Tehfcieh TEIT3T H THAT 37eh & 3R SoTehr TN9T 3 3iehl T Irehfdeh TEAT &1 3eTeh I[UTTthel T
TATH HIeT T g1 Hebell 672

A) 900
B) 1200
C) 2500

D) freifa =gt forar s gehar
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22) What is the coded number for WVCZVS from the following figure?

LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

22) AFATATET MR @ WVCZVS & T SHedeer Hem #4782
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

23) Which of the given set of statements should be used to answer the given question: Is P < Q?

a) P is a perfect square.
b) Q is a perfect cube.

A) Only a

B) Only b

C) Both a and b together

D) Not possible to answer even with both a and b
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23) f&T 37T 92 FT 3T &t & TIT U 10 FUAT F F fhTepr 39T foham a7 Tnfgw: Far P < Q2

a) P Teh quf et &l
b) Q Ueh qUT &1 gl

A) Sae a

B) &haer b

C) a 31k b =T v @MY

D) a 31 b &=t & @rer off 3R AT e ST AT &

24) How many hexagons are there in the following figure?

A) 3
B) 4
C) 10
D) 9

24) TFAfaiad T & fohde Yealur 82

Pagel130f87



Setld: 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

A) 3
B) 4
C) 10
D)9

25) A set is given, (Mathematics, Algebra, Trigonometry, Geometry). The sets given in options are
similar to it in a certain way EXCEPT one. Find the set that is different.

A) (Physics, Mechanics, Optics, Electromagnetism)
B) (Biology, Photosynthesis, Elections, Weather)
C) (English, Grammar, Comprehension, Writing)
D) (Chemistry, Reactions, Compounds, Molecules)

25) Teh e (01, Srereriord, Feaorfafa, safafa) iGar mar g fasea # Ruaw At A a vt &r
BISH J1hI 3T Uk AT dadih & FAT g1 [feet A A1 FY

A) (siifaehr, Fifxehr, TenIfRIT, fegd deed)

B) (Shrafaairer, erer weeror, goira, Hiwe)

C) (315N, STTRT, LR, &)

D) (vararst fa=met, ufafsarg, i, 3707)

26) You are given a statement.
Statement: Number P is an odd number.

Which of the following questions can be answered by using the given statement?

A) Is P a prime number?

B) Is P a composite number?
C) Is (P+1) divisible by 27?

D) Is (P+2) divisible by 3?

26) 39! Uah 2+ far =T § |

YA GEIT P Ueh YA T&IT ¢
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feT ITT FUAT &7 YT T [T H T 7y 92T &1 30 a1 31 Ihar 7

A) T P Teh AT TE&AT &2
B)WPWWW%‘?

C)aar (P + 1), 2 ¥ fas=a &7
D) & (P + 2), 3 @ fasrs &7

27) Which among the following statements will conclude that “Mahesh has a sister”?

a) Mahesh is the only son of his father

b) Mahesh's father has two kids

c) Mahesh’s mother is the only daughter of Rajesh
d) Mahesh has a cousin whose name is Seetha

A)aé&d
B)a&c
C)c&d
D)aé&b

27) f=ifaf@d Fuat # & fFad a8 sy e [ "dger fT ve 98 g2

a) AGL 39T AT T ShelldT T &

b) #EA & AT ar e &

C) HELT I AT T2 FT Sehollcl SeT &

d) FZLM hT Teh T Tg & ToTHehl ATH AT g

A)aé&d
B)a&c
C)cé&d
D)a&b

28) There are 160 children in a class comprising of two sections — A (with 100 students) and B
(with 60 students). The average marks of the students of section A is 75 while the average marks
for the entire class is 76. What is the average marks for the students of Section B?

A) 77.33
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B) 77.67
C) 78.33
D) 78.67

28) I 3T aTel Ueh &l & 160 9T &, FI7 - A (100 BTaT & ATY) 3R J91-B (60 BT & ATY) | TT A&

OTAl o1 3 37k 75 § STafeh G el o ToIT 30 37 76 &1 @97 B & oAl o folv 3 3ieh feheer
g7

A) 77.33
B) 77.67
C) 78.33
D) 78.67

29) Showing the photograph of a man, Harish told that his mother was the wife of my father’s son.
If Harish is the only son of his parents, whose photograph was shown by Harish?

A) Son of Harish

B) Father of Harish

C) Brother of Harish

D) Grandfather of Harish

29)Wﬁﬁﬁﬁﬁﬁ?%@ﬁ@gﬂ%ﬁﬁ,ﬁ?ﬁﬁﬁﬁ%ﬁﬁ*éﬁﬁw%l Ife; glrer 319et
AT T ThATT G &, AT 5T o Teherehl AR fewms?

A) glrer & g
B) gfrer & Rar
C) gver &1 17$
D) g8rer & grereit

30) In each of the pair given in options, Country and its capital is given. Identify the INCORRECT
pair.

A) BANGLADESH - DHAKA

B) CANADA — OTTAWA

C) COLOMBIA - BOGOTA

D) EGYPT — BERLIN
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30) faereul & fET 1T gcdsh SN &, ¢2r 3R 37T TSTemeir &) 1S & | ITeTd St i ugare |

A) ST - STehT
B) satrar - 3ierar

C) spreifaar- aemer

D) g - sfei=

31) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
..’
7 ~ 5 &N N
< 4 - A ¥ 4 4
A) ®B) © D) (1) (2) (3) G
A) 1
B) 2
C)3
D) 4
31) et HY 3T 3R &1 1S T2t it & Yot Y qur et
Problem Figures: Answers Figures:
..’
A 7l % 4 ¥ 4l 4
(A) B) © (D) 1) (2) (3) G
A) 1
B) 2
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C)3
D) 4

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

> | _+—

Felef-tET)| 2 ) s e | e
(A) (B) © D) (1 (63 (3) C))

A) 1
B) 2
C) 3
D) 4

32) @leT HT 3T TSI &Y a1 HAEAT Tl o Yot T I HYIM?

Problem Figures: Answers Figures:
> |+
el 2 )| o g ]
(A) (B) © D) (1) 2 (3) Q)
A) 1
B) 2
C)3
D) 4

33) Which answer figure will complete the pattern given in the problem figure?
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Problem Figures: Answers Figures:
(A) (B) © D) (1) () (3) (C))
A1l
B) 2
C)3
D) 4

33) @hleT AT 3T TSI &F 3T HHAEAT 1T o Yo bl I HLaM?

Problem Figures: Answers Figures:
(A) (B) © D) ¢y (03 3) C))
A) 1
B) 2
C)3
D) 4

34) In what way can this set be classified into two different sets?
(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) and (289, 441, 729, 961)
B) (17, 441, 27, 31) and (289, 21, 729, 961)
C) (17, 21, 961, 31) and (289, 441, 729, 27)
D) (729, 21, 27, 31) and (289, 441, 17, 961)

Pagel190f87



Setld: 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

34) fohg lch @ 0 HHFTTY &Y 3HlaT-3eleT FHTadl & qafiend fohar ST Herdr g7

(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) 31T (289, 441, 729, 961)
B) (17, 441, 27, 31) 31X (289, 21, 729, 961)
C) (17, 21, 961, 31) 3R (289, 441, 729, 27)
D) (729, 21, 27, 31) 31X (289, 441, 17, 961)

35) A larger cube is made from 512 smaller cubes each of dimensions 1cm x 1cm x 1cm. Then the

larger cube is painted on all the faces. Now if you consider the smaller cubes how many are
painted atleast on 2 faces?

A) 80
B) 216
C) 432
D) 72

35) Tah 93T a7 1 JAT x 1 T x 1 AHT 31 A & 512 B TaAT oY [RATehT garam = &1 o 53

ool & g3 Beleh 1 e har 37 §1 Ife 3779 B¢ g1 9T AR L af 378 & hdal & 2 Helsh 0T Ye
fopar arar g2

A) 80
B) 216
C) 432
D) 72

36) The average of the average monthly temperatures of February, March and April is 40
degree celsius. The average of the average monthly temperatures of April & February is 39 degree
celsius. What is the average monthly temperature of March? (in degrees Celsius)

A) 42
B) 40
C) 38
D) 39
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36) TadT, AT 3R 31 & 3Had AT drgaT o1 3iad 40 B3 afeaad g1 3 3R wadr &

3iaa Al araa &1 3aa 39 3t afcasa §1 A &1 3itaa anf@es argarer st grem? (3
afeaad A)

A) 42
B) 40
C) 38
D) 39

37) Select the option that will make the second pair analogous to the first pair.
Cricket : Pitch :: Gambling :

A) Court

B) Temple

C) Classroom
D) Casino

37) 39 [dehod &1 T Y ST gET SAIST Y Tgoll SIS & HHEY Tl &I

ﬁoﬁo—{:ﬁﬁ::\_ﬂmz
A) FrE

B) Afex

C) e

D) &&=y

38) What is the missing term in the number series given below?
1,5,11,19,  ,41,55,71, 89

A) 25
B) 29
C) 31
D) 36
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38) rr & TS HEAT AW 7 U TG AT §7
1,5,11,19, 41,55, 71, 89

A) 25
B) 29
C) 31
D) 36

39) Six friends, P, Q, R, S, T and U, are going on a trip. The tallest among them is 13 cms taller
than the shortest. The height of R is average of the heights of P and T. The heights of T and R are
162.5 cms and 156 cms, respectively. Who is the shortest among them?

A) P

B) Q
C)R
D)S

39)BEaEd, P,Q, R, S, TR U TS AT W AT IR ¢ | 375 H HIH oIdT SITFd, HIH ATC eIfard § 13

AT G | R T oo a1s P 3R T &1 ofea1s &1 3 g1 T 3R R &1 oo 1S $hael: 162.5 9T 3R 156
THT 8| 3oToh §1d T ATl PieT &7

A) P
B) Q
C)R
D) S

40) If PUSH is written as 1234, ROUGH is written as 65274, then the code for SOUP is

A) 3467
B) 3521
C) 7423
D) 6532

40) T PUSH & 1234 & &9 #, ROUGH &1 65274 & &9 & fol@r a1 g, df SOUP & forw &ram gpe
gram?

A) 3467
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B) 3521
C) 7423
D) 6532

41) A set of statements is given.

a) Radha always lies.

b) Hari always speaks truth.

What will be the answer if Radha is asked, "Will you lie while giving the answer to this question"?

Which of the given set of statements should be used to decide the solution to problem:

A) Only a

B) Only b

C) Both a and b together

D) Not possible to decide even with both a and b

41) Y= T Teh THg AT I B

a) TE EHAT 3B arercl £
b) R §HT T Sreldr gl

"FGT T SH ATl T STdTd ﬁg’@@@a’lﬁ?ﬂ" IR AT & IOT SATC, o 4T SiaTd gl

HTTT & AT T AT Ftat & AT iU 10 w2yt F & Faerr 39t far s anfew:

A) ael a

B) haer b

C) a 31k b =T v @TYy

D) a 3% b &t & w2y off oy aeerr wora AET &

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the following
figure X?
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RS AN AN < RN

X 1 : 4 o

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) eataf@a @r-ia X & fow g s 1, 2, 3 31K 4 ufafesat & & aia ar agr 5o fafeea g2

® 2% X »
Ay e NN
- g o ® o
X 1 : \ 4 o
A) gfafere 1
B) gfafers 2

C) yfafere 3
D) gfafers 4

43) A set is given, (23, 12, 35). The sets given in options are similar to it in certain way, EXCEPT
one. Find the set that is different.

A) (46, 24, 70)
B) (35, 22, 57)
C) (36, 26, 61)
D) (68, 12, 80)

43) T U< (23, 12, 35) far s2ar | fashed # T 37T At 7 & Teh ol SIgHL arehr T8 van AT
ae U Ueh AT &,a8 A< AT Y Y 376097 &1

A) (46, 24, 70)
B) (35, 22, 57)
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C) (36, 26, 61)
D) (68, 12, 80)

44) Given below a question followed by 2 statements. Choose the statement required to answer
the question by selecting an appropriate answer option.

Question : How many brothers do | have?

Statement 1: | have equal number of sisters and brothers.
Statement 2: My elder sister has 2 sisters.

A) Only statement 1

B) Only statement 2

C) Both statements 1 and 2

D) Neither statement 1 nor statement 2

44) T T YT & AT &7 HU U a0 § | 3T 3R [ahed &7 Tt FTh Y Fl 31 ol & [T
GG HY Io |

TaT: A fohdey oS §7

HUT 1: ALY dgaAT 3R ASAT HT J&IT TATA g
YA 2: ALY TS IgoT I 2 Tgal o |

A) Fad FU 1

B) sraret 2T 2

C) arer 1 31X 2, At

D) &1 v oyt 1 3R T & Ut 2

45) The average score of a batsman is 75 runs after 40 test matches. His highest score exceeds,

the lowest one by 258 runs. If those two matches are excluded, his average score will become 72
runs. What was the highest score of that batsman?

A) 259
B) 260
C) 261
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D) 263

45) 40 ¢¥C T & §1G Ueh deeldlol I AT ThR 75 T g | 3T ITddH TR [dFTdd ThIk T 258
3 37 &1 e 37 & A=t oY enfArer T8 foram SIraT € aY 38T 3 ad TR 72 3 @) Sireer| 39

JoolaTol T T ThIT FIT AT?

A) 259
B) 260
C) 261
D) 263

46) Vinay is the son-in-law of the mother-in-law of Rakesh's wife. Usha is Rakesh's only sister.
How is Rakesh's mother related to Vinay's wife ?

A) Mother-in-law
B) Sister-in-law
C) Mother

D) Sister

46) TATT T T Ucail I AT FT GTHIG & | 3T Ih2T HT Sehalldl S8 & | I T AT &l 37T P ol
& TTY FI1 RAT 8?2

A) grg
B) @relr
OF- 1}

D) sge

47) A is the son of B while B and C are the two sisters. E is the mother of C. If D is the son of E,
which one of the following statements is CORRECT?

A) E is the sister of B

B) D is the cousin of A

C) D is the grandfather of B

D) D is the maternal uncle of A
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A7) A, BEHTScTg A B3R C i g8l 81 E, CH AT I D, EFTdeTg, AN AT wu=ai A O
ieT TT Tk FET &7

A)E, BT ST &
B) D, AT TRIT 6T &
C)D,B& R
D)D, AT ATATE

48) Which among the following statements provide equivalent information?
a) (P-2)(P-4)<0

b) P>2

c) P<4

A)aandb
B) band c
C)aandc
D) All three a, b, and c give different information

48) AT YAl H @ DT T HYT FHATT/THT SRR TeTeT HIAT 872
a) (P-2)(P-4)<0

b) P>2
c) P<4

A) a3 b
B) p3ikec
Casikec
D) @8 e a, b, 31 ¢ 37cI9T-37619T SATTFHRT UeT i &

49) In what way can the terms of given set be divided into three sets so that the terms in three sets
have same product?
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(27, 12, 24, 18, 54, 36)

A) (27, 24), (12, 36) and (18, 54)
B) (27, 24), (12, 54) and (18, 36)
C) (12, 24), (27, 54) and (18, 36)
D) (27, 54), (12, 18) and (24, 36)

49) feT 1T el & vl &1, fohg e & et At & [Fenfaa foFam s @enar &, arfes =t et & get &r

IOTARS ATHTA B2

(27, 12, 24, 18, 54, 36)

A) (27, 24), (12, 36) 3R (18, 54)
B) (27, 24), (12, 54) 3 (18, 36)
C) (12, 24), (27, 54) 3R (18, 36)
D) (27, 54), (12, 18) 31X (24, 36)

50) Which number pattern is different from the others?

A)3,5,9,17

B) 4, 7, 13, 25
C)5, 9,17, 33

D) 6, 19, 64, 210

50) et TT TEAT dest gast ¥ 37eTT 87

A)3,5,9,17

B) 4, 7, 13, 25
C)5, 9,17, 33
D) 6, 19, 64, 210
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word — Crude

A) Refined
B) Unrefined
C) Bad

D) Tasty

52) Choose the correct article to complete the sentence:
He is visiting Netherlands.

A) a

B) an

C) the

D) No article required

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) We have / (B) been frantic / (C) by worry. / (D) No Error.

A) A
B) B
C)C
D) D

54) Choose the best meaning of the underlined idiom in the sentence.

The villain ate the humble pie at the end of the movie.

A) repudiated
B) confessed
C) questioned
D) rejoiced

55) Fill in the blank with the correct pronoun:
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is a very pretty girl.

A) He
B) They
C) It

D) She

56) Fill in the blanks with the correct option:

The sea was churned up heavy winds.

A) with
B) by
C) of
D) to

57) Fill in the blanks with the correct option:

Her car is excellent condition.

A) at
B) in
C)on
D) with

58) Choose the correct option to complete the sentence:
He failed to complete the task because of his

A) perseverance
B) attentiveness
C) laziness

D) eagerness

59) Identify the Compound sentence.

A) Our dog was frightened at the noise of the fireworks and ran indoors.
B) Few plants can grow in such a frigid environment.
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C) It was a lovely spring morning.
D) I hit my head as | was getting into the car.

60) Choose the word that is correctly spelt.

A) Apease
B) Appease
C) Apeese
D) Appeasse

61) ldentify the synonym for the word — Fabulous

A) Incredible
B) Terrible
C) Rich

D) Copious

62) ldentify the synonym for the word — Servile

A) Driven
B) Slavish
C) Puerile
D) Royal

63) Fill in the blanks with the correct form of verb:

The college classical language courses.

A) offer

B) offering

C) were offering
D) offers

64) Fill in the blank/s with the correct form of the verb given in brackets:

My father often

(scold) me for things | am not responsible for.

A) will have scolded
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B) scolding
C) scolds
D) be scolding

65) Choose the correct verb to complete the sentence:

They the effort we had made.

A) appreciated
B) appreciate

C) appreciating
D) will appreciate

66) Choose the correct verb to complete the sentence:
The old man cannot very well in the dark.

A) seen
B) see
C) saw
D) sees

67) Identify the antonym for the word — Vague

A) Rough

B) Smooth

C) Fashionable
D) Apparent

68) Choose the correct article to complete the sentence:

Suman has always been shy child.

A) a

B) an

C) the

D) No atrticle is required.

69) Identify the part of the sentence that has an error:
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I like your photographs so | send them for publication.

A) | like

B) your photographs
C) so | send them
D) for publication

70) Choose the meaning of the italicized idiom used in the given sentence.

For the principal, the school board's decision to expel his son for the reason of misconduct was a
bitter pill to swallow.

A) an unpleasant situation that must be accepted
B) an unpleasant medicine that must be taken

C) an unpleasant law that is passed by the government
D) a badly made medicine

71) Choose the meaning of the italicized idiom used in the given sentence.

Those who study both Mathematics and Biology in the 11th and 12th standards have the best of
both worlds.

A) living in two different countries at the same time

B) enjoying two different opportunities at the same time
C) having the best resources for two different subjects
D) having too much burden due to an extra subject

72) Fill in the blanks with the correct option:

Although complained about the bad roads,

took the intitiative to bring
it to the notice of the concerned authority.

A) everybody/ everyone
B) none/none

C) everybody/everybody
D) everybody/ none

73) Fill in the blank with the correct preposition:
He is two years older than .
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A) she
B) me
C) they
D) I

74) Fill in the blanks with the correct option:

He has been committed prison fraud.

A) to, for
B) for, to
C) with, in
D) on, to

75) Choose the correct option to complete the sentence:
Cars must not be parked the gate.

A) in addition to
B) by means of
C) in front of

D) in regard to

76) Choose the correct option to complete the sentence:
Unlike the wholesaler, the sells directly to the customer.

A) seller

B) retailer
C) supplier
D) consumer

77) ldentify the Compound sentence.

A) | took one look at her and cracked up.
B) The child crawled across the floor.
C) I've run out of milk.

D) They sat in the back row of the cinema.
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78) Choose the word that is spelt correctly.

A) Averisious
B) Avericious
C) Averitious
D) Avaricious

79) Choose the word that is correctly spelt.

A) Accompanement
B) Accompanyment
C) Accompaniment
D) Accommpaniment

80) Identify the synonym for the word —Callow

A) Dirty

B) Pure

C) Sophisticated
D) Immature

81) Identify the synonym for the word — Configuration

A) Confinement
B) Arrangement
C) Drawing

D) Alteration

82) Fill in the blanks with the correct form of verb:

She from school at 15 years old.

A) was expelled
B) were expelled
C) expelling

D) expels

83) Fill in the blank/s with the correct form of the verb given in brackets:
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My friend usually (pick) me up at the end of the corner and (drop) me at
the office everyday.

A) picks, drops

B) picked, has dropped

C) will pick, will drop

D) has picked, has dropped

84) Select the right verb for the blank:

She cannot read unless she glasses.

A) wearing
B) wears
C) wore

D) wear

85) Choose the antonym of the underlined word.
There is a very enticing dale in Rajasthan.

A) Dingle
B) Dell
C) Glen
D) Hill

86) Choose the correct articles to complete the sentence:
dead no longer need help.

A) A, an

B) A, the

C) An, the

D) The, no article

87) Choose the correct article to complete the sentence:

midday sun beamed down on the boat as it drifted along.

A) No Article required
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B) A
C) The
D) An

88) Identify the part of the sentence that has an error:

To each of our teachers, we bought a bouquet of roses.

A) To each

B) of our teachers

C) we bought

D) a bouquet of roses.

89) Choose the meaning of the italicized idiom used in the given sentence.
After five minutes of beating around the bush, he finally asked his manager for 2 days leave.

A) searching for birds

B) searching for excuses
C) avoiding the main topic
D) avoiding getting scolded

90) Choose the Pronoun in the given sentence:

It is a favourite game of theirs.

A) favourite
B) game

C) theirs

D) of

91) Fill in the blanks with the correct option:

The actor was besieged
A) from
B) for

C)to
D) with
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92) Fill in the blanks with the correct option:

You should abstain smoking, as it often causes cancer.

A) for
B) from
C)in
D) on

93) Choose the correct option to complete the sentence:
| could not buy the shoes because the price was

A) reasonable
B) affordable
C) fair

D) exorbitant

94) Choose the correct option to complete the sentence:
The bomb scare made the people of what might happen.

A) pensive
B) unconcerned
C) apprehensive
D) careless

95) Identify the Complex sentence.

A) They offered no solution to our myriad problems.

B) Paul was named after his grandfather.

C) Some migrating birds can navigate by the moon.

D) Theirs was a partnership, which was based on mutual respect, trust and understanding.

96) Choose the correctly spelt word.

A) Inconsiquential
B) Inconsequintial
C) Inconsequential
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D) Inconsequenshial

97) Identify the correct synonym:

Impinge

A) Encroach
B) Sell

C) Buy

D) Exceed

98) Identify the correct synonym:
Exorbitant

A) Cheap

B) Inexpensive
C) Small

D) Excessive

99) Fill in the blank/s with the correct form of the verb given in brackets:

I (feel) like a stranger even when |

A) am feeling, was
B) feel, am being
C) feel, am

D) was feeling, am

100) Choose the correct verb to complete the sentence:

(be) amidst my family.

Shashi offered me to the airport, as it was on his way.

A) dropping
B) a drop
C) to drop
D) drop
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Section 3 - General Awareness

No. of Questions: 50

101) In April 2019, which company announced its plans to shut down operations in China?

A) eBay

B) Flipkart
C) Amazon
D) Walmart

101) 319 2019 #, ThT HYeiT o, TeT H SATIR &G FeT hT 3TeAT JTSToAT Sl TIYUTT hr?

A) &

B) Rreraeré
C) v
D) gferaré

102) Which of the following semiconductor materials is used in manufacturing a transistor?

A) Aluminium
B) Silicon

C) Graphite
D) Fullerene

102) giforeex & AT & Aeafafaa & & frg aeiissaex It 3reiares gerey &1 39ATeT fonar Srar &7
A) sregaifas
B) fafariaT

C) Irwrse
D)W

103) Who among the following is the first law officer of the Government of India?

A) Attorney General of India
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B) Governor of the state
C) Chief Justice of India
D) Prime Minister of India

103) AT H & hieT HRA TIHR T TUH Hlofel TR 52

A) IR & AGT=ATIaTE!
B) o9 & TegTel

C) s & s =T
D) $1Ra & wenet 73y

104) Which of the following treatises is the work of the poet-saint Tulsidas?

A) Ramcharitmanas

B) Manusmriti

C) Hari Chitta Satya

D) Ramadhanya Charitre

104) AT 7 A T AT 7Y HII-HeT T T TAThid &2

A) TEaRaA=TE
®) wpea

C)eR R o
D) e afia

105) Appam, a type of pancake made with fermented rice batter and coconut milk is a common
food in which state of India?

A) West Bengal
B) Maharashtra
C) Kerala
D) Odisha
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105) 3759H, Teh Yeh{ T eTeheh ToTl WHR 3& TTael o Bl 3R ATRIS o g8 & =17 STl &,
Ug AR & TR TSI T HTH HISTeT g7

A) qfeas sater
B) sgrrSg

C) aer

D) anfaem

106) Which of the following separates Sri Lanka from India?

A) Duncan Passage

B) Nine Degree Channel
C) Ten Degree Channel
D) Palk Strait

106) feATaf@d 7 & FAT AT T 7RA T 3T FIAT 872

A) Zohet ST

B) a1z f3aft dTe
C) &= f3afy deter
D) g1 w2

107) India shares its land frontier with which one of the following countries in the East?

A) China

B) Pakistan

C) Nepal

D) Bangladesh

107) HRA qa &= 3 fea=ifef@d & & forar &er o AT 379611 S TAT-HSA Y HISH T 62

A) T
B) urferearer
C) Sgrer
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D) sieameer

108) The remains of Indus valley civilisations are NOT found in which of the following states of
India?

A) Punjab
B) Uttar Pradesh
C) Guijarat
D) Odisha

108) fAFAffd & & 9IRA & fohd T 7 e Gt T & 3/ 7€ 9T 571 d &7

A) datrer

B) 3% gear
C) aomrar
D) anfaem

109) One of the major sites of the Indus Valley Civilization 'Kalibangan', is loacted in which of the
following states of India?

A) Rajasthan

B) Madhya Pradesh
C) Uttar Pradesh

D) Punjab

109) T&Y] GTEr HIFAT o THW TYeil H @ Teh "SIt R & =i f@d # @ g T & Fua
g7

A) JrerEaTe
B) #er ueer

C) zaT yaar

D) dore
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110) The '61st Amendment' of the Constitution of India, officially known as The Constitution (61st
Amendment) Act, 1989 has fixed the voting age of elections to the Lok Sabha and to the
Legislative Assemblies of States at

A) 18 years
B) 21 years
C) 23 years
D) 25 years

110) HRJ & AT &7 '61aT TLMErT, T 3N & & gy (61aT1 @eer) 3ifafagsT, 1989
& &Y H ST ST 8, o Sehastl 3R T2t 1 [Aerara@s113it & fov Ieirdt & HAderT $r 33 fohcel a3 &
g7

A) 18 grer
B) 21 grer
C) 23 grer
D) 25 grer

111) In 2017, India's first Rural LED Street Lighting Project was implemented in which of the
following states?

A) Odisha

B) Tamil Nadu

C) Jharkhand

D) Andhra Pradesh

111) 2017 #, R =T Tgell AMHOT LED FIE orgiesT RS [Aetfeai@d & @ forg s & oy &
IS5 of?

A) 3nfsem
B) Flﬁﬂ?-l'lg
C) savs
D) arier werer
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112) Which state in India is the first one to launch Crime and Criminal Tracking Network and
Systems (CCTNS)?

A) Maharashtra
B) Karnataka
C) Goa

D) Guijarat

112) IR & it AT TT F1sH TS fhfAeTer 2fhar Acas Us f@Tesd (CCTNS) died et Tl Igell
5T g2

A) FerTSg
B) tie
C) arar

D)W

113) Which of the following athletes created history by becoming the first Indian woman wrestler to
win gold medal in 2018 Senior Asian Championships?

A) Sakshi Malik
B) Geeta Phogat
C) Navjot Kaur
D) Babita Kumari

113) fa=fof@d 7 & forg vorelie o 2018 AR viRas dRIafAT & TaoT uge Siids arell ggalr
HRAT AT Tgerdl gt siaer I fear?

A) e Ao
B) 3frar wiere
C) saaita &k
D)WW

114) Who won the FIFA World Cup Football 20187

A) Germany
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B) France
C) Croatia
D) Brazil

114) T Tavd & Hedie 2018 fohaat Siiar?

A) ST
B) wigg

C) srefaran
D) s1fSrer

115) Who was sworn in as the new Prime Minister of Palestine in April, 2019?

A) Mohammad Shtayyeh
B) Mahmoud Abbas

C) Benjamin Netanyahu
D) Rami Hamdallah

115) 319, 2019 & TRfAENT & AT FUTHAT & &I F fohaey a2 ofr?

A) ArgFAe UadE
B) sgwg sreard
C)mﬂﬁm

D) 3r#i gHcoes

116) Which nation awarded Prime Minister Narendra Modi with its highest state honour 'Order of St
Andrew the Apostle' in April, 2019?

A) China

B) Russia

C) Israel

D) France
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116) 31¥eT, 2019 # fohd 2T o Tl HAT oG AIGT T 3701 Haled AT FFATT 3T 3Hh e T3
& UOEee § HEATRAC fohar?

A) e

B) v

C) gosa

D) sy

117) Which of the following phenomena does NOT occur during the formation of a rainbow?

A) Polarization

B) Total internal reflection
C) Refraction

D) Dispersion

117) SGIIN & 16 & GNIeT oot 3 & et Y aRerer w787 gl 82

A) %T:hWUT
B) qut stiafie wrac
C) sraacie
D) afyataor

118) The odorant added to LPG cylinder to identify the leakage is

A) Chlorine

B) Ammonia

C) Dimethyl sulfide
D) Ethyl mercaptan

118) R&Ta Fr ggaTd it o foIv LPG ezt 7 i AT 314eh Ao Siar g2
A) FedieT

B) srifaram

C) srseremse wowTss
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D) suréer Aiheea

119) What colour is discharged when neon gas is used in a gas discharge tube?

A) Red-orange
B) Violet-purple
C) Yellow-blue
D) Grey-off white

119) Ter 3 FeEamet Tge 3 it 3 & 3uter fana ST &, a8 disT &7 T faatord giar 82

A) ST
B) areere-darir
C) dremr-rer

D) 337w sgree

120) As per the Order of Precedence of the Republic of India, the second citizen of the country is
the

A) President

B) Prime Minister

C) Vice President

D) Deputy Prime Minister

120) SR ORI Y G S & AR, U HT GERT AFTRE hleT 872

A) qrezafy

B) germeraa
C) smregafa
D) 39 wermea+

121) Article 1 in the Constitution states that 'India, that is Bharat, shall be a '

A) Federation of States
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B) Unitary State
C) Union of States
D) Quasi-federal State

121) HTaHTe & 3eTeoa 1 et o & fo, ‘373, 3rafa s, '

A) gt T FERTST &
B) ofpr 5T &

C) rat s Eer &

D) sref-geir s &

122) Which of the following Deccan mountains are situated between the rivers Narmada and
Tapti?

A) The Aravallis

B) The Satpuras

C) The Vindhyas

D) The Eastern ghats

122) fAeafaf@d & & +ia a1 gaFanet gad, F3er 3R aredT Afear & S ffua &2
A) 3RTae

%) Hager
C) faex
D) qdff eme

123) Which one of the following places in Jammu and Kashmir is known as 'Little Tibet'?

A) Ganderbal
B) Rajouri
C) Ladakh
D) Udhampur
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123) S1# 3R AR A AeAfaf@d # 4 forg Tur 1 Tolfee fdead’ & =16 @ ST ST 872

A) areeaer
B) gty
C) wegra
D) strert

124) In Peshawar, who led and organised the Civil Disobedience movement?

A) Lala Lajpat Rai

B) Jawaharlal Nehru

C) Maulana Abdul Kalam Azad
D) Abdul Ghaffar Khan

124) 9RMMeR H, HiATT a1 JHIGTeleT T Hiced 3R 3ATSTeT fehdte feram 2m?

A) |TalT dTeTad I

B) Stareterrer g%

C) FHIeTTAT 3Gl FHelTH TG

D) 3G AFHR TTed

125) Who is the author of the famous novel ‘Anandamath’?

A) Abanindranath Tagore

B) Natesa Sastri

C) Bankim Chandra Chattopadhyay
D) Rabindranath Tagore

125) STACY 391 'HTHACHS' & ol@eh il 2

A) raeliegarer TR

B) ararar e

C) sfperarg acerarear
D) If§egarer &R
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126) In the Indian Constitution, the subjects of Citizenship and Census is included in which of the
following lists?

A) Union List

B) Concurrent List
C) State List

D) Residual List

126) AR HIAUTeT 7 ARTRERAT 3R ANV & Tt bt fe=tfefed 7 & fone g 7 anfarer fomar
IRAT 2

A) ger g
B) g &=
C) e g
D) srafRrse =i

127) According to the Joint Sittings and Communications Rules of the Houses of Parliament, the
guorum to constitute a joint sitting shall be

A) One-eighth of the total number of members
B) One-tenth of the total number of members
C) One-sixth of the total number of members
D) One-fourth of the total number of members

127) HHE & Hesil & e doeh Ul Halg Hath AT & 3TaR, T 96 NS A o o
IMOTYfcl HeEaT Sy TEar

A) ol HETT TEAT T 3Tl 19T gIafy

B) Fel T HEAT T &gal 37197 gIafy

C) T weET HEAT F ol AT geh

D) et wew war &1 v TS ST g
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128) As per Indian Constitution, a person who is arrested and detained shall have to be produced
before the nearest magistrate within

A) 12 hours of the arrest
B) 24 hours of the arrest
C) 36 hours of the arrest
D) 48 hours of the arrest

128) HRAT GGt & 3TaR fohell caferd foa faIRerar foham aram gY 3R garernd & t@r = g1 38
fohcal THY & 37eX [Ahedd SIS & I JEdd fhT STt 1 raen= g2

A) IRWFIR g1 & 12 gel & i’
B) fORTaR @1 & 24 ®et & iR
C) fAR7FaR g1t & 36 Hel & e}
D) AReaR 81 & 48 gel & i’

129) Which of the following bodies is a constituent research laboratory of the Council of Scientific
and Industrial Research (CSIR) established in 1961 and conducts research on highly complex
structure and processes of the Earth system?

A) National Geophysical Research Institute
B) Indian Geo-Strata Research Council

C) Geomorphical Research Institute of India
D) Indian Geophysical Research Council

129) AT 7 A T &1 AP 1961 & T d=1feAeh 3R ek 1g@en=T aRwe (CSIR)
T Teh Hereeh M TINTRITET & X G2 JUTTell i 3rcaftieh Sifeer EXa=r AR Gfshansit 9T segaert
AT 82

A) I et sreTaeTe HETe
B) sy of-Ferlir sregaiene afvg
C) frnefhea Rad $¥éicye it gf3ar
D) s o1 afifaehr sregeens aftwe
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130) Who among the following scientists from India won the Dan David Prize for 2017, for his
contribution in the field of Astronomy?

A) Jayant Narlikar

B) Subrahmanyan Chandrasekhar
C) Fathullah Shirazi

D) Shrinivas Kulkarni

130) @I fIATA & &F H IoToh ANNET & [olT, HRA & [AFATafd dafast # & frast 2017 & faw
ST 338 REwR Sirar?

A) Sie ATelTa

B) geeAvas geaay
©) trefeetre RRTelt

D) shferarer remmoft

131) V.J. Surekha one of the recipients of Arjuna Awards 2017 represents India in which of the
following sports?

A) Boxing

B) Wrestling
C) Badminton
D) Archery

131) 379]oT JEHR 2017 o ATCcAehdi3il H & Teh, ol FR@T ool & & fove @t & HRel &1
eI el erea el &2

A) s
B) grecht

C) Ssfiest
D) dersir

132) In 2019, which organisation created the Guinness World Record for the longest single line
moving bicycle parade in Noida?

A) National Disaster Response Force
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B) Central Industrial Security Force
C) Border Security Force
D) National Security Guard

132) 2019 #, fohH HITGT o AITST H HIH el FHaTeT WA1geT FHdaT AISTehel WS & T FIeiiet des Nepis

JATAT?

A) ereTel FBeEeT Yqarg B
B) diger swdiae dgR wr
©) st et

D) srereter dergfReéY ams

133) The longest serving combat unit of the Indian Navy which turned 60 in 2019 is

A) Blue Tigers squadron
B) Red Tigers squadron
C) Black Tigers squadron
D) White Tigers squadron

133) ofF s FAY Teh AR AT 7 {all &at dTel Fledie Ffote et 2019 #H 60 el X 6T, 38 fovdt
TH & ST SATdT 872

134) According to the Food Safety and Standards Authority of India (FSSAI), the use of which of
the following chemicals is prohibited for ripening of fruits?

A) Calcium chloride
B) Sodium chloride
C) Calcium carbide
D) Sodium bicarbonate
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134) HRAT Wied TIET U HieTeh FIARIOT (FSSAI) o HATih, Hell Y Tehel & fIT fe=ifaf@d
THIAT H & 78 &1 39T ey g2

A) STRIH FoRTSS
B) @ifza# Feivrss
C) fera# Freiss
D) a\fzgs srerefae

135) Which of the following polymers is used to prepare soft contact lenses?

A) Polymethyl methacrylate
B) Polyvinyl chloride

C) Nylon 6

D) Polyacrylamide

135) fArafaf@d & & R 9ifaldT 1 STAATT TTHE Plecde ofF dIR il H HIAT FATAT §2

A) di RS e AAUThRIAE
B) qrehifaarse Feivss
C) Arreliat 6

D) aiefufsrersmrss

136) Who among the following moved the Objectives Resolution which was unanimously adopted
by Constituent Assembly on 22 January 19477

A) Rajendra Prasad
B) K.M. Munshi

C) Jawaharlal Nehru
D) B.R. Ambedkar

136) fArafaf@d # & fordet 22 STAadl 1947 T GIGETT THT GaRT HAGFATT & 37TV 3T 3T
Hohed IR fohar?

A) Troteg S ETE
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B) &.u#. Al
C) Sraretelrer Ag®

D) &Y.31X. 3 ezt

137) Which among the following Articles of Constitution of India deals with 'Prohibition of Traffic in
Human beings'?

A) Article 21
B) Article 17
C) Article 23
D) Article 29

137) #IRA o WlAuTeT & fAFATATAT 3eTedel # A T AT AT S TR T gfdeer & deferd
g7

A) sreTese 21
B) 3rqeda 17
C) 320 23
D) 3r7ess 29

138) Which of the following is India's first crowdfunded and crowd-sourced Sanskrit animated
feature film?

A) Meghaduta

B) Punyakoti

C) Ishti

D) Bhagavad Gita

138) 319 W hieT AR T Tgell 138 Hs3 ($N3-Fd N¥A) 3R F13s5-01ES T Tfaaes F=r fhor
g7

A) Aergg
B) quaanife

C) sfee
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D) sraraq afar

139) Dumhal dancers dress up wearing vibrant coloured robes and conical caps, which are
generally studded with beads. It is a popular folk dance of

A) Gujarat
B) Kashmir
C) Jharkhand
D) Karnataka

139) GHES alcieh 3TTehteh (el aET 3R QeraTehR eIl UgeTd &, S 31T R R Alferat & STst gl &
7 e T &1 e 9TAee o 3 §72

140) Who among the following is NOT an Indian classical Bharatanatyam dancer?

A) Saroja Vaidyanathan

B) Padma Subramaniam

C) Pandit Shambhu Maharaj
D) Geeta Chandran

140) AT 7 & PisT ARAIT AT ARTATCTH Adh el g?2

A) RIS degerersT
B) qewr gawroas

C) afea ere] FAgRTST
D) afrar =rge
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141) Which of the following is an art form encompassing ritual singing, drumming and dancing of
Manipur?

A) Sankirtana

B) Ankiya Naat

C) Yakshagana

D) Koodiyattam

141) HAEATATET 7 & T T Teh holl & & TGH ATV o TSN M, Sl AR e A &2

A) T
B) 3iferarreie
C) getaret
D) gfsarecH

142) Which of the following statements is TRUE for the rivers Sabarmati, Mandovi and Narmada?

A) All the three rivers flow into the Arabian sea

B) All the three rivers originate in the state of Gujarat

C) All the three rivers are east flowing rivers and drain into Bay of Bengal
D) All the three rivers originate at Bhima Shankar in Maharashtra

142) FreAY, A=IEY 3R s7efer afeat & fov Rrafaf@d & @ i a1 sy gd 82

A) waft cfet e 3 AR o aEc &

B) sft ey ARl ForTer T 3 Fverorch

C) st chet TRt o oF g arely Rrat ¥ T e Sy o wEeh
D) wsht eier el FrgRIeg 3 37T et 3 overoreh &

143) Who among the following kings is the founder of Rashtrakuta dynasty?

A) Amoghavarsha
B) Vatsaraja

C) Dantidurga

D) Dharmapala
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143) AT TSI & F FleT Tecehe I & TEUTTH 72

A) rAraas
B) geerre
C) fergett
D) ersurer

144) Which of the following temples was built by King Narasimhadeva I, the great ruler of the
Ganga dynasty?

A) Sun Temple of Konark

B) Virupaksha Temple of Hampi

C) Brihadeshwara Temple of Tanjore
D) Pancha Ratna Temple of Bankura

144) I3 FA & HETT ATHP ol AR AFged |, A =1t f@d 7 & Pl AT AR S7amrr a2

A) ot T JF AT

B) g#dt &t faearet Afx
C) Fstit 7 Jgerar AfY
D) st &7 v Teet e

145) As per the Election Commission of India, 'Bicycle' is the recognised election symbol of:
(i) Samajwadi Party - Uttar Pradesh
(ii) Manipur People’s Party - Manipur

(iif) Dravida Munnetra Kazhagam - Tamil Nadu

A) (i) and (ii)

B) (ii) and (i)

C) (i) and (iii)

D) (i), (ii) and (iii)
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145) R & fdTel 3TENT & HTAR, ‘SSHTgh el AT Yo IATd Felleh &

(i) THATSTATET UTET- 3T TS2r
(i) AIOTGR drged 9t AT

(iiil) aﬁgﬂﬁﬂ HSITH - dl’a\-mdlg

A) (i) 3R (i

B) (ii) 3R (iii)

C) (i) 3R (iii)

D) (i), (ii) 31 (Gii)

146) Researchers from National Chemical Laboratory Pune, produced carbon from which of the
following agri-products to be used in Li-ion batteries?

A) Groundnuts
B) Sweet corn
C) Soyabean
D) Sugarcane

146) TSET TATATART TR YT o Nerehcii3it o eIl # & Slet & ¥ 3curel & Li - 3mae
SRt & T g g1l dTel hlelel T SculeeT fohar g2

A) sare

B) e #iet
C) Arareer

D) a7

147) What is Solibacillus kalamii; named to honour the late President of India Dr. A P J Abdul
Kalam?

A) New bacteria discovered by NASA on the filters of International Space Station
B) Robotic arm developed by ISRO to re-position satellite in the space

C) New vaccine developed by National Institute of Virology, Pune

D) Antibiotics developed by Haffkine Bio-pharmaceutical Corporation Ltd, Mumbai
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147) #R & fedarel Isguld ST, T U ST 3egel helld ohl HFATIIA el & Tl ATTAT Fifa o
HATHT FIT 872

A)  STaTSErT 3iafeT T & fheed T NASA ZaRT ST a7 30T Sfar]

B)  siaftar  3vare 1 R & g F1fd oat & fAv ISRO gan fas e aifes sgam
C) sreerer $EETYE T aRRIaTST, o GaRT s fid 78 S

D) gferet ar-wrATEgfeae ke fafacs, Has ganT wfad tdemrferd

148) Who was the flag bearer for the Indian contingent at the opening ceremony of the 2019 South
Asian Games in Nepal?

A) Tejinder Pal Singh Toor
B) Rahi Sarnobat

C) Neeraj Chopra

D) Saurabh Chaudhary

148) si4Tel # 2019 &7 UfAATS Weil & 3guTed FARIE H AR Gof & £doTdigeh hied IA?

A) afSiex arer g
B) 1 TReaa
C) st dgsT
D) giver =terdy

149) Sumrai Tete, a recipient of Major Dhyan Chand Award 2017 belongs to which of the following
sports?

A) Hockey

B) Athletics
C) Football

D) Golf

149) FRTS T, AR TeTeIE [REHN 2017 & WTecehell [T # & fohey Wel & He T &2
A) grdr
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B) weraifeaa
C) gv?‘cﬁ?r
D) afrew

150) Which of the following options was chosen as the official mascot for the FIBA Basketball
World Cup 20197

A) Son of Dreams
B) Zabivaka

C) Turtle 'Olly

D) Ettie

150) few=Tfaf@d & @ et @1 fashed FIBA STEheslel fa9a s 2019 & T 3fRIsReR sient =
T AT?

A) T 3T ST
B) Srefrarent

C) e "3eol
D) wed
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Section 4 - Technical Knowledge of Electrical

No. of Questions: 50

151) What is the maximum efficiency of a full wave rectifier?

A) 99.8 percent
B) 98.4 percent
C) 81.2 percent
D) 76.4 percent

151) Teh JoTaT fGSeaRT & 31fRsde gaTdT fehder gidir £72

A) 99.8 wfaera
B) 98.4 wfaera
C) 81.2 ufaera
D) 76.4 wfaera

152) In an electric circuit, 4 resistances each of 10 Q are connected in parallel. What is the value
of the equivalent conductance of the circuit?

A) 40 U
B) 0.4 U
C)10U
D)0.1U

152)ﬁagﬁqmuﬁ,mloﬂ$49ﬁﬂﬂ$mﬁ§§§¢§l IRTY & FHAJT JdTgehed
AT fohcter §2

A) 40 U
B) 0.4 U
C)10U
D)0.1 U

153) Kirchhoff’s current law expresses the conservation of
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A) power

B) energy
C) charge
D) voltage

153) fonalth T faegd URT forare fohet TYETOT ohl Saehcl el §72

A) efFa
B) ot
C) amaer
D) aYeear

154) Which among the following is CORRECT for closed-loop control systems?

A)

B)
C)
D)

The feedback is not applied as system quality gets deteriorated with time and the response
is unpredictable

The response is pre-calibrated

The response is relatively insensitive to the external disturbance because of the feedback
It is comparatively cheaper than open-loop systems

154) fAe=faf@d & & =T A1 T d¢ o7 AF=07 Jotrelr & fovw #e g2

A)

B)
C)
D)

T TSE TFel STET T ST & AT o JOTTel &Y I[0TerT, AT o A1 WIS &1 STl § 3R
afafRar 3T gt el &

wfafrar qd-3renfea &
gfaferar, 9fagfse & HROT STedl caaere & fow 3rdetehd 3GdeaNT §
IE Gell o[d JUTTH &l Jolell H TET §

155) The generated voltage of a lap wound DC generator is 200 V. If the number of poles of lap
wound generator is doubled, then its generated voltage will become

A) 200 V
B) 100 V
C) 400 V
D) 300 V
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155) Ueh oI d138 Sfelke} I STfelcl dleedr 200 V g1 Ife oI a138 STeReX o Grel sl HEAT galeil &, ol
3T ST dteedT fehde g1 STesfr?

A) 200 V
B) 100 V
C) 400 V
D) 300 V

156) Which of these sets of logic gates are designated as universal gates?

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

156) ST dilfoteh 31C & HHGT H A el AT Ffladiel ¢ & &I H ATAT 572

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

157) Which among the following materials has the lowest electrical resistivity at 20 degrees
Celsius?

A) Copper
B) Gold

C) Iron

D) Tungsten

157) fawtfaf@d geraf & & fhahr faegd gfaieshdr 20 3ot afcaaa = aed 4 82

A) qrer
B) gy
C) ogr
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D) dareest

158) What is the frequency of standard 12 V battery?

A) 50 Hz
B) 0 Hz

C) 60 Hz
D) 12 Hz

158) HTeTeh 12 V. Jq T 3Tgfet fehcelt 872

A) 50 Hz
B) O Hz

C) 60 Hz
D) 12 Hz

159) Which type of electron pair exists in a semi-conductor?

A) lonic

B) Non-ionic
C) Homo-polar
D) Hetero-polar

159) 37¢aTeres H fhd YR T soiFcle SAIar il 62

A) 3E3niae
B) Ater-3ms3n@e
C) grar-aer
D) g3-chert

160) Swinburne’s test is used to determine the efficiency of DC motors but it is not used to
determine the efficiency of DC series motor because

A) it is not advisable to run a DC series motor on no-load
B) a DC series motor takes excessive current at no-load
C) a DC series motor develops a very high starting torque
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D) it is not possible to load DC series motor in steps

160) TasTest fafer s gEdHATe Teh DC AT FI &&TdT I [AURUT et & forw foram ST 8, & fh DC
TRIST AT T G&TdT T fTURoT el & folw sTadaTer fohar Sirar § F#ifew

A) g HIR I T DC WIS AT Telrlr 3R 781 &

B) ws DC ¥Rt HeX g 1R TR 31ca i faegd o ofar &
C) v DC BT A g & 300 YNFH & 1 [ahfad aear &
D) DC #riret Atex @t TRl 7 R Tva LT &

161) For measuring capacitance of high voltage capacitors, which of the following bridges can be
used?

A) Wien Bridge

B) Modified De Sauty's Bridge
C) Schering Bridge

D) Wheatstone Bridge

161) 3= dlecdl HUTRA 9 UTRAT T AT o fIT SieT & AT T STATIT 8T Hebll 572

A) fder A

B) wifywigs 13 aléra ag
C) Rraftar ¥

D) efreweiar g

162) What is the meaning of accuracy of a sensor?

A) Closeness of output to the true value

B) Change in output for every change in input
C) Degree of freedom from random errors

D) Dispersion of measurements

162) Teh AR FT FIhdT &7 31T F1 §2
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A) FEr A1t & faT 3m3eye i e

B) geTqe # &¥ agema & forw 3mseye # agema
C) arefeas Ifeat & wardsa H Fife

D) \rq 1 yehrote

163) When two synchronous generators are operating in parallel, a change in governor set points
of one machine

a) changes supply frequency
b) changes active power supplied by the generators

c) changes the terminal voltage

Of these statements

A) (a) and (b) are true
B) (b) and (c) are true
C) (a) and (c) are true
D) (a), (b) and (c) are true

163) 319 &I fAITH STeeX AR H I X BT &, a9 T FLI & 3G AT Uisee H T SGolld,

a) 3Mqfet 3 &t aeet & &1
b) STeReY SaRT 3Mfct & 517 Tg Ak AT &I el &l &
c) il aleedr I deo ST &

S HYAT H I

A) (a) 3R (b) TET®
B) (b) 31 (c) wET &
C) (a) 3 (c) TET R
D) (a), (b) 31 (c) WET &

164) Which of the following is the highest Interrupt Priority upon Reset in 80517

A) Timer Interrupt 1
B) External Interrupt O
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C) External Interrupt 1
D) Serial Communication

164) 8051 H fAT It W ITUAH S TATRET Pl AT &7

A) TrgAT geetee 1

B) wvergesTel Seete 0

C) vggester gwece 1
D) wifterer wrgfersnert

165) The instruction ANA M is

A) Four byte instruction
B) Three byte instruction
C) Two byte instruction
D) One byte instruction

165) fader ANA M

A) AR STge A& &
B) et sTse Rder g
C) arsrse Ay

D) e arge Ader g

166) How many semiconductor layers are available in a TRIAC?

A) Two
B) Three
C) Four
D) Five

166) Teh TRIAC H fohcer 31¢TaTeleh TR 39elsY 82

A) &y
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B) Jre1
C) o
D) gt

167) For a silicon NPN transistor, the base to emitter voltage is 0.7 V, the emitter is negative, the
collector to base voltage is 1.2 V and the collector is positive. The transistor is operating in the

A) Active mode

B) Saturation Mode

C) Inverse active mode
D) Cut off mode

167) Teh fAfaepiaT NPN Tifoieex & fov, 3R & 3cdoia dleedr 0.7 V §, 3coleh dhRIcH® & 3R
HIATEh § ATUR dleedr 1.2 V § 3R JIgsh ThRIcHS g, dl eifalEel

A) afha s & HIH FT @18

B) gqfRa Az A A X w1 8

O gern afra As A FA T W E
D) #e 3w Ais 3 e # @I e

168) Which electrical circuit theorem is stated as: “The total current in any part of a linear circuit
equals the algebraic sum of the currents produced by each source separately”?

A) Thevenin

B) Norton

C) Superposition
D) Tellegen

168) fohdt Taegd TRYY YAT 1 58 g AEse fohar s g: Xwe aRay & frdr off ieed & et
faeg T &RT YA Gl SaRT 3TT-3eleT Scarfed faegd &RT & SISoTcy JYer & sXrey gl 877

A) dafaeT
B) aréa
C) SRRSIEING)
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D) eehratet

169) Which slope is represented by 1/jw in transfer function of Bode diagram corresponding to log
magnitude plot?

A) -50 dB/decade
B) -2 dB/decade
C) -20 dB/decade
D) -5 dB/decade

169) ITeT IRATUT IRG o 3eTHY §15 IRY H 30T Yhd H 1/jw SR fohd Faorelm &1 gidiaAieica
fepam ST g2

A) -50 dB/ decade
B) -2 dB/ decade
C) -20 dB/ decade
D) -5 dB/ decade

170) The stator of a 3-phase, 4-pole slip ring induction motor is connected to 50 Hz supply. At the
rotor terminals, a frequency of 30 Hz is required. The speed at which the rotor must be driven is

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

170) Teh 3-of, 4-GreT TFerd NaT SSeRreT(@dt aera 9Xuft) HIe &1 FeX 50 Hz T 3mfet @ ST 8|
X Aol I, 30 Hz Y 3TgfaY r 3avaerd & | [51a 91 & QeX arferd foham ST afe e, a8 &

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

171) For a 3-phase induction motor, the rotor power output is 18 kW and the corresponding slip is
4%. What will be the rotor copper loss?
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A) 500 W
B) 540 W
C) 750 W
D) 600 W

171) Teh 3 Tl SSFRA(IROT) HIEX o fAT A T fdegd Afehed M3eYe 18 kW § 3R desTed &ed
4% g e areT a1a fohdeT grem?

A) 500 W
B) 540 W
C) 750 W
D) 600 W

172) Which is the condition for toggle mode in JK flip-flop?

A)J=0,K=0
B)yJ=1,K=1
C)J=0,K=1
D)J=1,K=0

172) IK TFAI-TFelTT F ctater Al & forw Rufa Fer g2

A)J=0,K=0
B)J=1K=1
C)J=0,K=1
D)J=1,K=0

173) What will be the maximum possible time required for change of state for a 4-bit synchronous
counter using flip-flops with propagation delay of 15 ns each?

A) 30 ns
B) 15 ns
C)45ns
D) 60 ns
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173) 9 15 ns o TAOT Tdeid o AT fFera-Fellq ol T1eT . 4-Tae sl dr3ex Fr fufa
gRAdeT & foIT 3TaeTe JThdd THT THT fohdar glom?

A) 30 ns
B) 15ns
C)45ns
D) 60 ns

174) Which of the following is an example of bilateral circuit?

A) Diode rectifier
B) Vacuum tube
C) Transmission line
D) Metal rectifier

174) fFT # | Sl 91 gfaurfRaes akay & v 3e1gor 872

A) 3rts IFeHrR
®) dog g

C) eregeiier drseT
D) Feer Mok

175) Which property in an electrical circuit is analogous to magnetic reluctance in a magnetic
circuit?

A) Inductance
B) Capacitance
C) Resistance
D) Conductance

175) U faegd aRay & Slet AT 01 Jehg IRTY & Ueh Jahiy fAFGAT & THET §?

A) Yehea
B) enfar
C) gfasrer
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D) arerhea

176) Which type of thermostat is generally used in appliances with heating elements?

A) Bi-metallic

B) Magnetic

C) Clad metal

D) Circuit breaker

176) §IfEaT dcal aTel 3UHUT & AR W fhd YR & YATECT HT 3TJET fohdT ST 872

A) g

B) dachier

C) Fels g

D) afger faiers

177) In a 3-phase alternator the slots/pole/phase is equal to 5, and the coil span is 12 slot pitches.
The coil span factor is

A) Cos 38 degrees
B) Cos 18 degrees
C) Cos 45 degrees
D) Cos 25 degrees

177) Teh 3-thol YcITdcish & TACH/AT/HoT 5 & sRTeR g 3R Fise T 12 Faile ey g1 disd T
FRE &

A) Cos 38 f2aft
B) Cos 18 faait
C) Cos 45 fair
D) Cos 25 faait
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178) A 200 V/100 V, 50 Hz transformer is to be excited at 40 Hz from 100 V side of the transformer
winding. For the exciting current to remain as rated, the voltage to be applied should be

A) 150 V
B) 80 V

C) 100 V
D) 125 V

178) T 200 V/100 V , 50 Hz Sa®HIHR I CeabIaR aisf=sdl & 100 V &7 ¥ 40 Hz W 3daford
foham ST &1 3asten faegd &Ry Jarg st 38T fRufd & 9 @t & foT, S dr S arelt ateedr glelr
BlIY

A) 150 V
B) 80 V

C) 100 V
D) 125 V

179) The gauge factor of a strain gauge is 1, stress is 1050 kg/ cm”2, Young's modulus of elasticity
is 2.1x108 kg/ cm”2 and resistance is1000 Q. The change in resistance of the strain gauge is

A) 0.5 Q
B) 1.0 Q
C)15Q
D)2.0 Q

179) Teh T ISt T 31T thereX 1 8, T & 1050 kg/ cm”2 &, TcATEIAT T J3T AT 2.1x106 kg/ cm”2
& 3R 9faRrer 1000 Q §1 T 31T & TR H et fhder grem?

A) 0.5 Q
B) 1.0 Q
C)150Q
D)2.0 Q

180) In a hydroelectric power station, assume water discharges at the rate of 1 m3/sec and the
head of the water is 1 m, then the power generated by the alternator(Assume 100% efficiency of
generator and turbine) will be

A) 9.81 KW
B) 12.5 kW
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C) 16 kW
D) 22 kW

180) Teh STeifdegel fSrsTeler &, Al o & IS Sier fawsier 1 m¥/sec WEIATE AR I Tgs 1 m &,
ol 3TTeesel @RI 3cedl faed e gRM(SIFReY 3R SISt i g&Tdr 100% HTe o)

A) 9.81 KW
B) 12.5 kW
C) 16 kW
D) 22 kW

181) In case of 8085 microprocessor, the 6264 static RAM memory contains an array of

A) 6264 bits
B) 65536 bits
C) 32 bits

D) 64 bits

181) 8085 HTSSHITIEER o Hesl 7 6264 Ffceh RAM T

A) 6264 TS Fr ARof nfder &
B) 65536 fare T ARof enfder §
C) 32 fae i grof AT §
D) 64 fye v arofr enfAer &

182) How are the bits of the register PSW affected if we select Bank 1 in microcontroller 80517

A)PSW.3=0and PSW.4=1
B) PSW.3=1and PSW.4=1
C)PSW.3=0and PSW.4=0
D)PSW.3=1and PSW.4=0

182) Ife; ATSshIdheclok 8051 H & Bank 1 T Tl Y ol ToTeex PSW & foed & werrfad giar?

A) psw.3=03RPSwW.4=1
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B) psw.3=13RkPSw.4=1
C) PSW.3=03RPSW.4=0
D) psw.3=13RPSW.4=0

183) If holding current of a thyristor is 2 mA, the latching current can be

A) 0.06 PA
B) 0.002 A
C) 0.012 A
D) 0.004 A

183) Ffe; Ueh UTSREET hT €T el &RT 2 mA &, o JAfRIeT fagg e «rT & dehcl §

A) 0.06 pA
B) 0.002 A
C)0.012 A
D) 0.004 A

184) In a three phase full wave converter, the number of notches per cycle is

A) one
B) three
C) six
D) nine

184) Teh ditel TROM U a0 Shetae A Yicd sk Widll s HEAT &

A) te
B) &yt
C) og
D) #t

185) The current gain of transistor in common base mode is 0.99. What will be the current gain in
the common collector mode?

Page770f87



Setld: 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

A) 100
B) 99

C) 0.56
D) 0.98

185) hideT S HIS H e I Tdegd URT offetr 0.99 §| HIFA HelFel AIS A fdegd URT offeer
ferctet g1t

A) 100
B) 99

C) 0.56
D) 0.98

186) For transistors configured as a common emitter (CE) amplifier, B = 40 and amplifier base
current (Is) = 25 pA.

What is the value of current flowing through the emitter resistor (Ig)?
(Notations/symbols carry their usual meaning)

A) 1.025 mA
B) 10.25 mA
C) 102.5 mA
D) 1025 mA

186) 3HITASS 3cToleh (CE) VFedIthRR & FATfold Uah gifeide & folt, B=40 3 VoFedIhRY 3R
faegd amT (1) =25 p A.

3cqoieh FIcRIY (1) SaRT FaTigd 8lel dlell fdecl ¥RT ol HTeT fohclell g2
(IciTht /gl & 379 ATATT 37 81 8)

A) 1.025 mA
B) 10.25 mA
C) 102.5 mA
D) 1025 mA
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187) The current through 4 Q resistor in the network below is
3Q 8 Q

—AMWWW, ——VWW——

15AC1> 4Q C>48V

A) 10 A
B) 14 A
C)12 A
D) 15 A

187) =1 few 310 Sieash 7 4 Q YoRIYs & ATETH | faegd arr g
3Q 8Q

% AN

15 A ﬁ 410 | 48 V
h

/\/
(
e

A) 10 A
B) 14 A
C)12 A
D) 15 A

188) Match analogous properties between the two lists, translational and rotational mechanical
systems given below:
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List | (Translational) List |l (Rotational)

A. Force

1. Torsional Compliance

B. Mass

2. Rotational damping co-efficient

C. Damping co-efficient |3. Moment of inertia

D. Compliance

4. Torque

A) A-1,B-2,C-3,D-4
B) A-4, B-3,C-2,D-1
C)A-1,B-3,C-2,D-4
D) A-4, B-3, C-1, D-2

188) #fr<r & 375 & FfAT & fercaravor 3R gofft aifye syonfet & S Feey ot &7 e w4

a4t | (fer=aT)

Tt Il (i)

A THT

B. s=9HT

3. ST

D. FqITaT

4, FATLT

A) A-1, B-2,C-3,D-4
B) A-4, B-3, C-2, D-1
C)A-1,B-3,C-2,D-4
D) A-4, B-3, C-1, D-2

189) If steady state gain is 2 then the transfer function G(s) for the shown pole-zero plot will be

® 1 =

=i

A) 5(s+1)/(s*+4s+5)
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B) 5(s?+4s+5)/(s+1)
C) 2(s+1)/(s?+4s+5)
D) 2(s?+4s+5)/(s+1)

189) T TUTS HaEUT offskr 2 §, af TEWNT 91T ¢[a-2+ 3IRY o [T 3eRoT T G(s) Bram

x 1 =

=i

A) 5(s+1)/(s?*+4s+5)
B) 5(s?+4s+5)/(s+1)
C) 2(s+1)/(s?+4s+5)
D) 2(s?+4s+5)/(s+1)

190) An 8-pole, 250 V wave wound generator has 200 conductors, if the generator is to be lap
wound, for the same voltage the number of conductors required is

A) 800
B) 1000
C) 1600
D) 3200

190) TH 8-TT, 250 FATee aF AT3E Ae H 200 ATAF 5, ATQ SALEL &l oI ATIE AT ST &, qal
FAreedT o [oIT ATaea ATAF 1 §&aT 8

A) 800
B) 1000
C) 1600
D) 3200

191) The conversion time and conversion rate for a counter type A/D converter which contains 4-bit
binary ladder and a counter driven by a 4 MHz clock are

A) 4 us and 250 kilo conversion/sec respectively
B) 16 us and 250 kilo conversion/sec respectively
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C) 2 us and 500 kilo conversion/sec respectively
D) 16 us and 62.5 kilo conversion/sec respectively

191) 4 foe STS={T ST Td 4 MHz ST SaRT HTclcl Teh 13X Jobel I3 5T A/D Fofac & fow
FUTAROT IHT T FYTAOT &Y fordar g7

A) 4 ps 3 250 kilo conversion/sec(fehalY FITAROT/AHE) HHU:
B) 16 ps 31X 250 kilo conversion/sec(fehell FITARUT/AHE) SHa2T:
C) 2 us 31T 500 kilo conversion/sec(frell TITAROT/AHE)HA:
D) 16 ps 31X 62.5 kilo conversion/sec(frelr TUTaRUT/AFS) FHHT:

192) Which of the following is an example of converting energy from one form to another?

A) Solar Cell

B) Transistor

C) Circuit breaker
D) Lightning arrester

192) HAFATATET 7 & il &1, Ueh & A gEY &I H Fofl KUICRUT &1 Teh 3GT6I0T 672

A) TR A

B) #ifSreey

C) gRuer et
D) afsa ders

193) Which among the following is primarily used for transformer cores operating in microwave
range?

A) Ferrite

B) Silicon steel

C) Super alloy

D) Copper
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193) fAF=faf@d # & A&7 T & fohdehl 3UANT, ATgehidd I # SHBEN R o TR & fov fvar
ST 87

A) s

B) faforehier T&er
C) gux o arg
D) gfer

194) What is the main constituent of a glass?

A) SiO2
B) B203
C) Al203
D) Fe203

194) TSI T HTY TH FAT g2

A) SiO2

B) B203

C) Al203

D) Fe20s3

195) A 20 pole, 30 Hz alternator is directly coupled to and is driven by 60 Hz synchronous motor.
The number of poles for the synchronous motor is

A) 48
B) 12
C) 40
D) 16
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195) Teh 20 el 30 Hz 3ffecsiex, 60 Hz fAshiera AleX & TeaeT A ¢ 3R 38 gy dfeld g |
fispleTa Aiex & fow oier T dear §

A) 48
B) 12
C) 40
D) 16

196) Wagner’s earth devices are used in a.c. bridge circuits for:

A) Eliminating the effect of earth capacitances

B) Eliminating the effect of inter-component inductance and capacitance

C) Eliminating the effect of stray electrostatic fields and electromagnetic fields
D) Shielding the bridge elements from external magnetic field

196) 91 379 f3aTeH T a.c. A IRTY H fohaeh folw SEAAT T ST 872

A)  ore el F YTl WeH et & faT

B) 3{cR-gee IRehea 3R TR & 9eTTa Y WA et o fow

C) v feerfaggd et 3R faggdaraha it & 991a 3 Ter Lot & fow
D) aredr dehrr 819 & Vg deal &1 TRTET0T aa & fow

197) A coal fired steam power plant is working at a plant load factor of 90%. It has one 400 MW
generating unit. If the heat content of the coal is 2 kWh/kg, the overall plant efficiency is 60% and a
trainload of coal is 900 metric tons, how many trainloads of coal are required daily?

A) 1
B) 6
C)8
D) 10

197) 90% T Teh HIT HX [0Teh TR Ueh Il 313 Fooaolel arsy-2rferd e X TgT & | $HH Teh 400
MW dTe 3cureet Jfae 81 ATe el Sl FSAT 2 KWhikg &, AT HIT G&TAT 60% g 3 Tl &1 AR
900 AT caT &, A AP o PRIy 1 TAHR vy & fhd=r grafr?
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A) 1
B) 6
C)8
D) 10

198) In a power system with a negligible resistance, the fault current at a point is 8 pu. The series
reactance to be included at the fault point to limit the short circuit current to 5 pu is

A) 3 pu

B) 0.20 pu
C) 0.125 pu
D) 0.075 pu

198) Sgd A FfcRIY & T Teh ATFd o A Th foig T ¥ faed URT 8 pu &l g IR fegd
YRT I 5 pu deh MTAT Fe & e Iy g ox enfAer fam St arel e ufdard §

A) 3 pu

B) 0.20 pu
C)0.125 pu
D) 0.075 pu

199) The timer clock frequency and its period for the crystal frequency of 13 MHz will be

A) Clock frequency = 1.08 Hz and Time Period =0.9 s

B) Clock frequency = 1.08 Hz and Time Period = 0.9 ps
C) Clock frequency = 1.08 MHz and Time Period = 0.9 us
D) Clock frequency = 1.08 MHz and Time Period =0.9 s

199) 13 MHz & fshecel 3T & IT alele TSt 3Mgicr 3R 3HehT Jrafer grafr

A) Frere Mg = 1.08 Hz AR 3@ =0.9s
B) st 39 = 1.08 Hz 3R 3@ = 0.9 ps
C) #rerg 3mafa = 1.08 MHz 3R 3@fr = 0.9 ps
D) whrere; 39 = 1.08 MHz 3R 3/@f@r = 0.9 s
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200) A silicon controlled rectifier (SCR) has half cycle surge current rating of 3000 A for 50 Hz
supply. The one cycle surge current of SCR is

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A

200) 50 Hz T 3Mqfc o oI Teh TaferehieT heles AFEHRR (SCR) HT 3000 A 3] T7sh ol Tae g RT
T &1 SCR &I Ueh <Ish Hol fdegdl URT &

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A
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